

# Maisonette in Paola



**Paola, South**



**€181,000**

Reference No: 240231101-3

 Total Rooms: **6**

 Floor Area (m<sup>2</sup>): **65**

 Bathrooms: **1**

 Bedrooms: **1**

# Maisonette - For Sale - Paola

PAOLA – UNCONVERTED GROUND FLOOR MAISONETTE , in need of renovation, is conveniently located close to all essential amenities. The property comprises a Living room, Bedroom, Kitchen, Bathroom, Yard, Well, and 2 storage rooms, which can be converted into a second Bedroom. It also includes ownership of part of the roof. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

## Features

- ✓ Air Space
- ✓ Well

## Rooms

- ✓ Living : 4.22 x 3.92 m (16.54 m<sup>2</sup>)
- ✓ Double Bedroom : 4.61 x 3.05 m (14.06 m<sup>2</sup>)
- ✓ Kitchen : 4.98 x 2.58 m (12.85 m<sup>2</sup>)
- ✓ Bathroom : 2.65 x 2.2 m (5.83 m<sup>2</sup>)
- ✓ Open Space : 2.86 x 2.2 m (6.29 m<sup>2</sup>)
- ✓ Office / Study : 2.8 x 2.2 m (6.16 m<sup>2</sup>)
- ✓ Box Room : 2.2 x 1.4 m (3.08 m<sup>2</sup>)

# Gallery





**Seifallah Haouas**

RE/MAX Centerparc - Qormi

M: 77689598

E: seifallah@remax.com.mt

T: 27344344

**RE/MAX Centerparc - Qormi**

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta